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QUESTION 1

When are zonemaps initially created for a table?
A. nzbackup

B. nzreclaim

C. CREATE TABLE

D. ALTER TABLE ADD ZONEMAPS

Correct Answer: C

QUESTION 2

You have access to two databases, DEV and PROD. Currently you are connected to the DEV database. Which

operation is permitted?

A. Delete from PROD..TableA

B. Select * from PROD..TableA

C. Truncate table PROD..TableA

D. Insert into PROD..TableA select * from DEV..TableB

Correct Answer: B

QUESTION 3

The query history data collected DOES NOT provide insight to which of the type of performance and behavior
guestions?

A. The typical or most common types of queries.

B. The longest and shortest running queries on the system.

C. The queries submitted by specific users or groups of users.

D. The rotational speed of the disk drives during query execution.

Correct Answer: D

QUESTION 4
Which option does NOT trigger a HardwareNeedsAttention event?

A. A power supply has failed.
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B. A switch has beenrebooted.
C. A SAS cable fails or is disconnected.
D. A chassis or fabric switch port is in a down state for longer than the defined threshold.

Correct Answer: A

QUESTION 5

Using a date column as a distribution key may distribute rows evenly across dataslices, why is this a poor choice of a
distribution key?

A. Queries on the table will invoke compression.

B. Queries on date range may involve processing skew.

C. Queries on date range will utilize only host processing.

D. Queries on the table will invoke compression on the date columns.

Correct Answer: B
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